


 In the adjacent 
figure, the three 
sides are XY,YZ and 
ZX.

The lengths  of the 
sides are given 
5cm,7cm and 10cm.

 If you add the sides 
pair wise, you can 
see the sum is 
always greater than 
the third side.
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 5cm + 7cm = 12cm >10cm
 7cm + 10cm = 17cm >5cm
 5cm + 10cm = 15cm > 7cm.
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 In the previous slide, two triangles ABC, and 
PQR are given,

Measure the length of the sides .
 Find the sum of the sides pair wise and verify  

the statement “the sum of two sides of a 
triangle is always greater than the third 
side.”



 In the adjacent 
figure, a triangle ABC 
is given.

 The lengths of the 
sides are 10cm,10cm 
and 8cm.

  If you find the 
difference of the 
lengths pair wise , 
you can notice that 
the difference is 
always less than the 
third side.
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Differences are as follows:- 
AB – AC =10cm – 10cm = 0cm < 8cm( BC)
AB – BC = 10cm – 8cm = 2cm < 10cm(AC)
AC – BC = 10cm – 8 cm = 2cm < 10cm(AB)
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 In the previous slide , two triangles ABC and 
PQR are given .

  Measure the length of the sides.
 Find out the differences of the sides pair 

wise.
Verify the statement “The difference of two 

sides of a triangle is always less than the 
third side.”



The adjacent figure 
is representing a 
right angled 
triangle.

The longest side is 
the hypotenuse.

The two other sides 
are forming the 
right angle, usually 
they are called the 
legs of the right 
angle in the 
triangle.



 In a right – angled 
triangle , the sum 
of the square of 
two smaller sides 
is always equal to 
the square of the 
hypotenuse.

Here, c is the 
hypotenuse, thus









1.Draw a right angled triangle 
with legs ‘a’ , ‘b’ and 
hypotenuse ‘c.’
2. Draw two square of side 
(a+b).
 3. Draw three squares of sides  
‘a’ , ‘b’  and ‘c’ respectively.
4. Arrange the pieces according 
to above arrangement.



 5. In the first square, the area is representing a square 
and four right angled triangle having sides ‘a’ and ‘b’.
the area is = c2 + 4 X ½ ab


6. In the second arrangement, the area is representing 
two squares of sides ‘a’ and ‘b’ respectively along with 
two rectangles of sides ‘a’ and ‘b’.
The area is= a2 + b2 + 2X ab
7. Thus, c2 + 2ab = a2 + b2  + 2ab( From the results of point 
5 &6).

  since 2ab is on both sides , we can subtract it from both sides)

 c2 = a2 + b2



Geometrical 
meaning:- 

 If you draw three 
squares taking the 
sides a,b,and c.( Let 
S1,S2 and S3).

You will find that 
the S1 and S2 
together occupy the 
surface which is 
equal to the  area 
of S3.
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